o : EAB29VK-1
mB:M3-M1249yT7512Ey B /ILEB)

AR FEAEAE 18,400 (k) ~ 20,240M (Fiid)

000 o0 el

——p #

i QO

18,400 (%tk) 20,240 (FtA)

0000.0008

1EEH BATEE: 0 (2024/04/29 22:463R7E)

P A2 1 ARFCE L |

yapAszA

R—Y

L%

<tvyrHBE>

FAZ(AN)vT) :M3X0.5

FAZ (AR YY) :M4X0.7

FALZ(AN)YY) :M4X0.75

FAZX(AN) ) :M5X0.8

AR (AN)Y%) :M5X0.9

FAZ(AN)YT) :M6X1.0

FAZ (AR YY) :M7%X1.0

AR (AN)Y2) :M8X1.0

FAZX(AN)wD) :M8X1.25

FAZ(AR)w) :MIX1.0

FAZX(AN)wT) :MIX1.25

FAZ(ARN)wT):M10X1.25

FALZ(AN)Y2) :M10X1.5

FAZX(AN)wD):M11X1.5



FAR(ARNYvY):M12X1.5
FAR(AN) WD) :M12X1.75
51 Z(BSP):1/8” %28

9 (AR)w2) :M3X0.5
v T (AN)wD) :M4AX0.7
9T (ARN)wD):M4X0.75
9 F (AR)w2) :M5X0.8
59T (AN yY) :M5X0.9
v T (AN)wH) :M6X1.0
9T (ARN)wD) :M7X1.0
H9T (AN ) :M8X1.0
By T (AN) D) :M8X1.25
v T (AN) D) :MIX1.0
v T (ARN)wD):MIX1.25
By T (AN) ) :M10X1.25
&y (AN ) :M10X1.5
By T (AN)w) :M11X1.5
By T (AN) D) :M12X1.5
Sy (AN)yY) :M12X1.75
47 (BSP):1/8”X28
FALRNYRIL(2F)

9T NURIL(3R)

EvFs—IT16MH (AN w5, 0.35~3mmET)

AD)a—=R54/\—=
TIRFYIT—AHBARX 265X140X40mm
M8 EhEs
K&
& EA829VX-21

AXVE  fERESHERCKIEIW,

e
B

1.83kg



HASLETRO
AR ARRTBERFE4TE14F125 06-6532-6226 (£3R)
© 2018 ESCO Co.,Ltd.



	仕様
	代替品

